Binomial Theorem - Class XI

Related Questions with Solutions

Questions

Quetion: 01
Let a, b, ¢, d are the coefficients of any four consecutive terms in the expansion of
&

n th =
(1 o)t € Nothen oo g

A

b5f

b2_|_2
2% ¢

C.
b+c

D. none of these

Leta, b, ¢, d are "Cp, "Cr41, *Cr42, BCry3
nCr + " r42

nCr + nCr—H nCr+2 + ncr+3
et "Criz
- O, IO
_nl(r+ 1) (n—r)! nl(r+3)(n—r—2)
Crlln=n)ln+ 1) (r+2)(n—r—2)!(n+1)
(r+1) r+3 2r+4
n+1 n+l n+1

b n

Now. —— — 9 T+l —9 l

o b+c ln0r+1 + "Cr+2] [n+10r+2

5 n!(r+2)l(n—r—1)!
(r+Dln—r—1n+1)!

:2[7“—’_2}
n+1

Correct Options

Answer:01
Correct Options: C



